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trig. type 4, nclust 1, cer_h 0, E<0.8 GeV
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[llustration 1. cer_h = 0 single cluster mean asymmetries for E<0.8 GeV
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[llustration 2: 4.7 GeV 80°
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[lustration 3: 4.7 GeV parallel
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Illustration 4: 5.9 GeV 80°

Physics Asymmetries: btd.cer0.eclt0.8.ncl

72750 72800  7285C

.?;:. [

L . 'Eii;.;'!i:' ii!;iiii: I

$s sgs

u=-0.037,0=0.022

0, =0.004
Asymmetry —e—

[llustration 5: 5.9 GeV para

A_phys 4.7 GeV parallel
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trig. type 4, nclust 1 or none, cer_h 0, E<0.8 GeV
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[llustration 6: Physics A for cer_h=0, any or 1 cluster
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[llustration 7: Physics A for single cluster, cer_h = any or O



